## School Board of Sarasota County, Florida Sarasota County Technical Institute

## High School Student Fee Structure for 2008-2009

All High School Student who park on the campus of SCTI will be required to display a SCTI hangtag. The cost per hangtag is \$10.00.

Accounting Operations			,
	Program Uniform (2 @ \$15.00) CTSO Membership	\$ 30.00 15.00	
Administrative Assistant		\$ 45.00	,
	Program Uniform (2 @ \$15.00) CTSO Membership	\$ 30.00 15.00	
Automotive Collision Repair & Refinishing		\$ 63.50	,
	Program Uniform (2 @ \$20.00) CTSO Membership Safety Glasses Lock	\$ 40.00 15.00 3.50 5.00	
Automotive Service Technology		\$ 73.50	ı
	Program Uniform (2 @ \$20.00) CTSO Membership Metric 6" Steel Rule Safety Glasses Thermometer Lock	\$ 40.00 15.00 3.00 3.50 7.00 5.00	
Building Construction Technology		\$ 37.50	ı
	Program Uniform (2 @ \$7.00) CTSO Membership Safety Glasses Lock	\$ 14.00 15.00 3.50 5.00	

Business Com	puter Programming		\$ 46.00
	Program Uniform (2 @ \$15.00) CTSO Membership CD-R (1)	\$ 30.00 15.00 1.00	
Computer Systems Technology			\$ 46.00
	Program Uniform (2 @ \$15.00) CTSO Membership CD-R (1)	\$ 30.00 15.00 1.00	
Cosmetology (1st Year)			\$ 545.00
	Program Uniform (2 @ \$15.00) CTSO Membership Cosmetology Kit	\$ 30.00 15.00 500.00	
Cosmetology	(2nd Year)		\$ 115.00
	Program Uniform (2 @ \$15.00) CTSO Membership Manikin - Dionne - Afro Manikin - Patty - White	\$ 30.00 15.00 37.00 33.00	
Culinary Oper	rations		\$ 130.00
	Program Uniform (2 @ \$55.00) CTSO Membership Lock	\$ 110.00 15.00 5.00	
Customer Assistance Technology			\$ 45.00
	Program Uniform (2 @ \$15.00) CTSO Membership	\$ 30.00 15.00	
Digital Design			\$ 57.50
	Program Uniform (2 @ \$15.00) CTSO Membership CD-R (5 @ \$1.00) DVD (3 @ \$2.50)	\$ 30.00 15.00 5.00 7.50	

Drafting Technologies			\$ 70.00
	Program Uniform (2 @ \$25.00) CTSO Membership Lock	\$ 50.00 15.00 5.00	
Early Childhood Education			\$ 130.00
	Program Uniform (2 @ \$35.00) CTSO Membership Childcare Supply Kit Lock	\$ 70.00 15.00 40.00 5.00	
Emergency Medical Technician (EMT)			\$ 175.00
	Program Uniform (2 @ \$25.00) CTSO Membership Drug Testing Medical Supplies Project Supplies	\$ 50.00 20.00 35.00 60.00 10.00	
Health Careers Program			\$ 225.00
	Program Uniform (2 @ \$50.00) CTSO Membership Drug Testing Medical Supplies Project Supplies	\$ 100.00 20.00 35.00 60.00 10.00	
Legal Administrative Specialist			\$ 45.00
	Program Uniform (2 @ \$15.00) CTSO Membership	\$ 30.00 15.00	
Marine Service Technology			\$ 73.50
	Program Uniform (2 @ \$20.00) CTSO Membership Safety Glasses Lock	\$ 40.00 15.00 3.50 5.00	

Medical Administrative Specialist			\$ 45.00
	Program Uniform (2 @ \$15.00) CTSO Membership	\$ 30.00 15.00	
Multimedia Design			\$ 57.50
	Program Uniform (2 @ \$15.00) CTSO Membership CD-R (5 @ \$1.00) DVD (3 @ \$2.50)	\$ 30.00 15.00 5.00 7.50	
PC Support Services			\$ 45.00
	Program Uniform (2 @ \$15.00) CTSO Membership	\$ 30.00 15.00	
Veterinary Assisting			\$ 120.00
	Program Uniform (2 @ \$25.00) CTSO Membership Drug Testing Medical Supplies	\$ 50.00 17.00 35.00 18.00	
Web Design			\$ 57.50
	Program Uniform (2 @ \$15.00) CTSO Membership CD-R (5 @ \$1.00) DVD (3 @ \$2.50)	\$ 30.00 15.00 5.00 7.50	